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Correction   

 

Soustraire des nombres décimaux        
 

❶ Pose et effectue ces soustractions 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

❷ Complète ces soustractions  

 
 

 

 

8,5 -1,4 = 

      

   8 , 5 
  - 1 , 4 
   7 , 1 

 

 56,9 - 6,7=  

 

     
  

 5 6 , 9   
-  6 , 7   
 5 0 , 2   

 

 47,65- 19,5=  

 

         

   4 7 , 6 5  

 -  1 9 , 5   

   2 8 , 1 5  
  
 
 

   

     
  

   5 3 , 1 4  

  -  5 , 3 7  

   4 7 , 7 7  

 53,14- 5,37 

 

 

    2 , 8 0 

  -  1 , 4 7 

    1 , 3 3 

2,8 -1,47 = 

  6 8 , 0 0  

-  5 2 , 9 4  

  1 5 , 0 6  

68-52,94= 

 6 2 , 7 5 

- 3 2, 4 3 

 3 0, 3 2 

 5, 5 5 7 

- 4, 5 6 3 

 0 , 9 9 4 

 4 7 , 7 8 9 

-  7, 0 9 7 

 4 0, 6 9 2 
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